
RIKRIKRIKRIK0153015301530153BBBB::::    Matrix FixtureMatrix FixtureMatrix FixtureMatrix Fixture ,,,,    Side PlatesSide PlatesSide PlatesSide Plates,,,,    CassiniCassiniCassiniCassini    16161616    SlotSlotSlotSlot

Parts List and Assembly InstructionsParts List and Assembly InstructionsParts List and Assembly InstructionsParts List and Assembly Instructions

ReferenceReferenceReferenceReference QTYQTYQTYQTY Part DescriptionPart DescriptionPart DescriptionPart Description
F
I

S2
C
Q
R

S4
E

S5
O

S3
N

S6
J

G

M
L
K

8
2
8
8
1
1
1
4
4
1

32
4
4
1
4
1
1
2
2
2

spring .30 OD .75L .028 wireDIA
HANDLE  4" BLACK
SCREW, PAN HEAD, 10-32 X 3/8", SS, w/patch
WASHER, LOCK, #10 INTERNAL TOOTH
NUT, KEPS, 4-40, SS
WASHER, LOCK, #8 SPLIT, SS
SCREW  FLAT PHIL  4-40 X 7/16"  SS 100°
sandwich mount neoprene DIA5/8 L1/2 F-F 8-32
SCREW, BUTTON HEAD, 8-32x1/4", SS
Ground Wire 3"*
SCREW, FLAT PHIL, 4-40 X 1/4",100° SS, w/patch
Pin, Fixture Stop, 0.50 x 0.80L w 10-32
shoulder screw 8-32 3/16DIA 1.25L SS socket head
knob retract fixture top*
Nyliner 3/16 shaft plate thickness .315
Box, Brown, 24x12x12
ASSY Drawing for RIK0153B
UPPER, COVER CASSINI16 FIX*
LOWER, COVER CASSINI16 FIX*
FILLER CASSINI16 TOP FIX*

Side Metals Hardware

Cassini 16 Matrix Fixture Side Covers and Hardware - Not Compatible with RIK0175A, 
1x5 Carrier.

Robust Aluminum Shell�

Folding Top Plate for easy access to internals for debug and assembly�

Grounding Wires�

Shock Mounts to Bottom plate to enable fluid docking to Handler�



Assembly InstructionsAssembly InstructionsAssembly InstructionsAssembly Instructions ::::


